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Temperature

Pressure

0K 50K 100K 150K 200K 250K 300K 350K 400K 450K 500K 550K 600K 650K
1TPa - - 10 Mbar
-Xl(hexéqonal) :
100 GPa 100K, 62 GPa X i EEmmm==smmmsmmso - — @l

10GPa

1GPa

100 MPa

10MPa

1 MPa

100kPa

10kPa

1kPa

100Pa

10Pa

1Pa

Vi

278 K, 2.1 GPa
355.00 K, 2.216 GPa
XV [ | 218K, 620 MPa et 2= ~
== b aE K 45 oS AT 272.99K, 6324 III\DAPa.
-248.85 K, 844.3 MPa e 266.164 K, 350.1 MPa
LA 2385K,212.9 MPa | \281.165K, 209.9 MPa Critical point
‘ ' CNEE T | 647.096 K
— ~ S=SSSSSSss (373.946 °C),
Solid ] Liquid 32,054 B
| | S=E BE -========= = | |
X| el |
1 |
C I h
! ' 4 STP - NTP .....
, i ‘ 293 15K
(ortho- I 273115K © ¢C),| (20 °C),
rhombic) ! 100 kPa || 101.325 kRa
Freezing pointat1atm | sATP Boiling point at 1 atm
273.15K (0 } C),101.325 kPa 298, 373.15K (100 °C), 101.325 kPa

Solid/Liquid/Vapour triple point
273.16 K (0.01 °C), 611.657 Pa

Vapour |
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